Answer Key ¢ Lesson 6: Partitioning with Volume
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Homework Master TG - Grade 2 - Unit 10 - Lesson 6

| TG-Grade 2-Unit10 - Lesson 6 - Answer Key

Building Parts (TG)

Homework

Questions A-C

Possible number sentences given for Questions A—C:

A. Number sentence 1: 20 + 80 + 40 + 60 = 200

Number sentence 2: 60 + 20 + 80 + 40 =200

Combined number sentence:
20+ 80+ 40+ 60 =60+ 20+ 80 + 40

Number sentence 1: 22 + 8 +34 + 4 = 68
Number sentence 2: 34 +4 +22 + 8 =68

Combined number sentence:
22+8+34+4=34+4+22+8

C. Building plans and number sentences will vary.
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